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Exercice 1 p 30 

- 12  568  748 

- 3  600  417 

- 6  987  456 

- 45  693  245 

- 634  125  854 

- 52 163 400 

 
Exercice 2 p 30 

a) 7 000 000 

b) 115 000 000  

c) 2 300 000 

d) 12 000 000 

e) 80 000 000 

 
Exercice 3 p 30 

a) 7 000 000 + 400 000 + 30 000 + 9 000 + 200 + 20 + 2 = 7 439 222 

b) 4 000 000 + 900 000 + 50 000 + 900 + 20 + 6 = 4  950 926 

c) 2 000 000 + 600 00 + 9 000 + 90 + 8 = 2 609 098 

 

Exercice 4  p 30 

a) 13  400  000 

b) 5  218  304 

c) 1  003  200 

d) 804  003  112 

e) 910  120  500 

 

Exercice 5 p 31 

Six-millions-vingt-quatre-mille-cent-neuf 6 millions 24 mille 109 6  024  109 
Douze-millions-trois-cent-quarante-mille-cent-trente 12 millions 340 mille 130 12 340 130  
Quatre-cent-neuf-millions-cinq-cent-quarante-sept-mille 409 millions 547 mille 409 547 000 

 

Exercice 6 p 31 



- Six-millions-cinq-cent-quarante-deux-mille 

- Vingt-trois-millions-cent-mille-cent-vingt-quatre 

- Douze-millions-cinq-cent-mille 

- Sept-cent-quatre-vingt-neuf-millions-soixante-quinze-mille-cent-vingt-cinq 

- Cinq-millions-cinq-cent-mille-cinquante  

- Quatre-vingt-trois- millions-cinq-cents 

 
Exercice 7 p 31 

Le 5 représente :  

a) Les unités de mille 

b) Les unités de millions 

c) Les centaines de mille 

d) Les dizaines 

e) Les centaines 

f) Les centaines de millions 

 

Exercice 8 p 31 

a) 20 259 254 

b) 210 304 500 

c) 800 280 409 

Exercice 9 p 31 

- 2 561 300 + 700 =2 562 000 

- 3 658 000 + 2 000 000 =5 658 000 

- 2 300 000 + 700 000 =3 000 000 

- 5 644 500 + 20 000 =5 664 500 

- 2 030 500 + 70 000 = 2 100 500 

 

 


